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1. U areafes gear x 0 § % gen ok
T T &F TR AT W AN FH P |
Ig T M § ?

(a) —0-625
(b) —0-125
(©) 0125
@ 1

.awmmaﬁ?n(m>n)a€aﬁ
H AR 728 | gl GemEt F e

TH A B ?

(@ 3

(b) 4

© 5

@ 6

JHE AT N TE 5-3ihE e ® |
S N &6, 12, 15, 24 ¥ fawfa

foran ST ® Y s 2, 8, 11, 20 99
q9AT § | N g0 Wi W4T @ |

(a) 99960
(b) 99956

() 99950

(d) 99946

4. 111222 + 222333 1 33344 1 5

fafoa = w® Jvwa wT AT R 7
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(@ 1
(b) 2
© 3
@ 4

. 4321012345 x 98766789 % T

dfm T sm w2
(@ 1,05

(®) 2,0,5
© 21,5

@ 3,0,5

. P, (2 +)? +2%) & FATHFATEET € |

x=1,y=2,z=3 A p=70% | 5=
x=-1, y=1, z=5ApHAAFT§ ?

(a) 100
(b) 125
() 135

(d) 140

LHE AT N, 11w AYad ST

e & Rl o6, 12, 15, 18 & fwfa
FA W ANEA 5 @ar © | Freafaleg &

¥ - ow R 7

(a) 900 < N < 1000
(b) 1000 < N < 1100
(¢) 1100 < N < 1200

(d) 1200 <N < 1300



1. A real number x is such that the sum

of the number and four times its square
is the least. What is that number ?

(a) - 0625
(b) -0-125
() 0125

@ 1

. The difference of the square of two
natural numbers m and n (m > n) is 72.
How many pairs of natural numbers
will satisfy ?

(@) 3

(®) 4

(c) 5

d 6

. Let N be a 5-digit number. When N is
divided by 6, 12, 15, 24 it leaves
respectively 2, 8, 11, 20 as remainders.
What is the greatest value of N ?

(a) 99960

(b) 99956

(c) 99950

(d) 99946

. What is the remainder when

111222 4 222333 4 333444
is divided by 5 ?

(@ 1
(b) 2
(© 3
(d) 4

. What are the last three digits in the

multiplication of
4321012345 x 98766789 ?

-85
®) 2,0,5
) 41,9

@ 3,0,5

6. p varies directly as (x% + % + z2). When

x=1,y=2,z=3, then p=70. What
is the value of p whenx = -1, y = 1,
z=157?

(a) 100

(b) 125

(c) 135

(d) 140

. Let N be the least positive multiple of

11 that leaves a remainder of 5 when
divided by 6, 12, 15, 18. Which one of
the following is correct ?

(a) 900 < N < 1000
(b} 1000 < N < 1100
(¢) 1100 < N < 1200

(d) 1200 < N < 1300
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1 1
JI0++9 ' N11+410

1 Lot
Niz+n 0 96+ 4105
ferer aRTaR @ 7
(a) 17
() 14

(© 11

(@ 10

9.3 X WeEH # @S ARk & 24 A%

10.

# UR &R i @ 3R Y et # w3
ofth A 18 ¥FT F IR R AN 21 3
ot Rt # T T -G
20 ¥e ¥ UR o Wt ¥ | X R T
(speed) T Y & STt A F41 GG T ?

(@ 1:2

(b) 2:3

(© 1:3

@ 3:4
m;ﬁﬁ,‘-qp,qwﬁwxz+mx—n=0
S T R I m, on wEHER
2+px—q=0F 1 g (m, n, p, q
PR T@m §) | feafafea & F
F-A1 /-8 AT w9 2/8 ?

L m(m+n)=-1

11 p+q=1
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12.

13.

13 i o e v v g
(a) Faa I

(b) & II

(c) 13K II gt

@ FALIAAI

8sinf—4sin%0 & HSdH HE T
T2

@ 3

(b) 4

(c) 8

d 12

(1 + tana tanf})? + (tana — tan)?
fereren SRR 2

(a) tan’a tan?B

(b) sec’a sec’f

(c) tan’a cot’f

(d) sec’a tan’p

Frafafee a9t = fer it .
I. tan50° — cot50° HATHS &
IL cot25° — tan25° Ve &
T @I-91 /-9 FaT 98 /% 7
(a) e I
(b) Faa I
(c) 13K I3t
@ ANLIRI y



. 1 1
8. What is ——+——+
V10449 V11+4/10
S RS T S
NIZ+411 77 4196 +4/195
equal to ?
(@) 17
(b) 14
) 11
(d) 10
9. Train X crosses a man standing on

10.

the platform in 24 seconds and train Y
crosses a man standing on the platform
in 18 seconds. They cross each other
while running in opposite directions in
20 seconds. What is the ratio of speed
of X to speed of Y?

(@ 1:2
b)) 2:3
ey 1:3

@ 3:4

Let p, g be the roots of the equation
x2 + mx —n =0 and m, n be the roots of
the equation x2+px—q=0 (m, n, p, g
are non-zero numbers). Which of the
following statements is/are correct ?

L m(m+n)=-1

II. ptqg=1

11.

12.

13.

Select the answer using the code given
below :

(a) Ionly

(b) IIonly"

(c) BothIandII
(d) Neither I nor II
What is the maximum value of
8sinf — 4sin%6 ?

(@ 3

(b) 4

() 8

d 12

What is

(1 + tana tanf)? + (tana — tanB)?
equal to ?

(a) tan’a tan’B
(b) sec’a sec?p
(c) tan’a cot?B

(d) sec’a tan’p

Consider the following statements :
1. tan50° — cot50° is positive
II. cot25° —tan25° is negative

Which of the
correct ?

statements is/are

(a) Ionly

(b) II only

(¢) BothI and II
(d) Neither I nor II

A — RAKU-T-EMT



14.

15.

16.

afe OS(a—ﬁ)S(a+ﬁ)s§,

tan(a + B) = /3 3K tan(a—ﬁ)=71;,
ar tana-cot2f fohadh sRrax & ?

(@) 1
(b) 2
© 3

@ %

sin?6 cos?6 (sec?6 + cosec?0)
&l A fopaes SRR © 2

(@ o
(b) 1
(c) 2

(d 4

AR 6451°0 4 649096 — 16 wi
0<6=s % A tand + cotd H WA
TG ?

(@ 1

(b) 2

(c) 3

(d 4

RAKU-T-EMT - A

17. afe

18.

19.

cosech — coth = m 31X sech — tanf = n,
A cosecl + sech Toraah sRTeR 5

(a) —;(m+n+l+l)

m n

(b) (m+n+l+1)

m n

(c) %(m+n—l—l)

m n

(d (m+n—i—l)
m

n

TF TG F YR g X, & F
foda fFm = @ figelt P ok 0 &
FITA H KA o IR B €| AR
fog X 78 f wag & AoE W, A
QR SIS w1 R Al o iR B
g7

(a) 2h(tana + cota)

(b) Htana-tanf

(c) hAcota-cotf

(d) hseca-coseca

st ABC ¥, Z4BC = 60° 3R 4D

98 ® 19 AB=6 cm 3R BC=8 cm,
A et 1 S w7 @ 2

(a) 12 square cm

(b) 1243 square cm

(c) 24 square cm

(d) 2443 square cm



14.

If0$(a—/3)$(a+ﬁ)$-72£,

tan(a + B) = /3 and tan(a—B) = 713',

then what is tana-cot28 equal to ?

(@) 1
®) 2

o

15.

16.

© %

What is the value of
sin2@ cos20 (sec?0 + cosec?6)
equal to ?

(@ o0
(®) 1
(c) 2

(4) 4

If 64%0° 1. 64°°°8 =16

where 0 < 0 < —725,

then what is the value of tan6 + cot6 ?
(@) 1

(b) 2

(c) 3

(d) 4

17.

18.

19.

If
cosect — cot@ = m and sec6 — tanf = n,
then what is cosec@ + secf equal to ?

@ %(n};a;iiﬁul)

m n

n

(c) %(m+n—'—;—%)

(d) (m+n—-1——l)
m n

From a point X on a bridge across a
river, the angles of depression of two
points P and Q on the banks on
opposite side of the river are o and f8
respectively. If the point X is at a
height & above the surface of the river,
what is the width of the river if a and
B are complementary ?

(b) (m+n+—l—+l)
m

(a) 2h(tanc + cota)

(b) Htana-tanf

(c) hcota-cotp

(d) hseca-coseca

In a triangle ABC, ZABC = 60° and
AD is the altitude. If AB = 6 cm and

BC = 8 cm, then what is the area of
the triangle ?

(a) 12 square cm

-(b) 12+3 squai'e cm

(c) 24 square cm

(d) 2443 square cm

A — RAKU-T-EMT



20. afe p 3R g wfiemor

21.

22.

23.

x? - sin®0 x — cos?0= 0% T ¥,
@A p?+ ¢ H Tad A TR ?

1
(@ 5
() 1

3
© 5

@ 2

n GEITHAT H GHIGR WET M g | afe
TeS (n—1) 9o H AR k B, A Adl
T T ?

(a) M-k

(b) nM -k

(c) n(M—k)

d) M- nk

3,9, 27, 81, 243, 729, 2187 &I UK
T TR ?

(a) 81

(b) 105

(c) 144

(d) 243

T& AR R @Ml 4, B, C,DH A
WA ¥ 1000 &9 Ui 1 kg, 2 kg, 4 kg,
S5kg@ R ¥ 1 kg I IaR @dea € |
98 JEaT 1000 T F x kg ITF qER
BT §, AT x I Gfsiehe 919 34T § 7
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24.

25.

26.

(@ 195

(b) 2-00

(c) 2-05

@ 2-10

Tehel ST WA "EATsl (YRRIg
& formn) &1 SwEE =& TS TS gy
T 3R TR B 4-37F wEATST H
TR TR ?

(a) 7887

(b) 7997

(c) 8998

(d) 9889

325 @ 28 ¥ fawioe &= | Jwwa
91 BRI ?

(@ 1
(b) 11
(c) 24
(d) 27
x(0 <x <8) F HH T § afe

(100%7 + 100% + x + 1) A 9% fawrira
A R AYFT 0T |

(@ 8
(b) 6
(c) 4
@ 1



20.

21.

22.

23.

If p and q are the roots of the equation
x2 — sin20 x — cos?0 = 0, then what is
the minimum value of p? + g2 ?

@

(b) 1

(© 3

@ 2
The arithmetic mean of » numbers is

M. If the sum of first (n — 1) terms is £,
then what is the nth number ?

(@ M-k

(b) nM -k

(c) nM - k)

(d) M- nk

What is the geometric mean of

3,9, 27, 81, 243, 729, 2187 ?

(a) 81

(b) 105

(c) 144

(d 243

A person purchases one kg of tea
powder from each of the four places
A, B, C, D at the rate of Y1000 per
1 kg, 2 kg, 4 kg, 5 kg. If on an average
he purchased x kg of tea powder per

%1000, then what is the approximate
value of x ?

24.

2S.

(@) 195
(b) 2-00
(c) 205

@ 210

What is the sum of the largest and the
smallest 4-digit numbers made by
using single digit prime numbers
(without repetition) ?

(a) 7887

(b) 7997

(c) 8998

(d) 9889

What is the remainder when 3%° is
divided by 28 ?

(@) 1

NORY

26.

) 24

@ 27

What is the value of x(0 < x < 8)
if (10097 + 100%* + x + 1) leaves a
remainder 0 when divided by 9 ?

(@ 8
(b) 6
(c) 4
(@ 1

A — RAKU-T-EMT



27. @& B9 4BCH, BC R D& fag # |

28.

29.

afe AB-DC = AC-BD, /BAD = o 3R
£CAD = B <t frfafaa & & s9-a
G R ?

@ a=p

(b) a=2pB

) 2a=p

(d) 2a=3p

TF A N=123456784B T&
10-37hT TEAT ®, W&l 4, B3 € | afe
N, 9 @ fawrsa &, ot f=fofea & 2
H-91 /-8 HIT el g /% ?

L (4+B)9 & fawrsw €

ILafc 4w &, A Bfaww &

= fou U e w1 W W IR g
(a) Hae I

(b) ¥ 11

() 13RIt

(d ARNLADVI

5. 4. 6 s Lo
gl 55 g i Lo
Sooraw N e

@t frafafea & @ S-w1 » & A9
?7
@@ 3
(b) 6
© 8
@ 9
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10

30.3f¢ 11x+ 5y TH AW G (prime

31.

32.

b R

number) & W& x, y HT-FLUT &I (natural
number) g (x +y) A1 FAdH A 1
e

(a 3

(b) 4

(c)- >

(d) 6

T 4-3FF @& N & e 15 fim
aoE &1 NS i e f o
T TR ?

(@) 16

(b) 30

(c) 45

(d 225

AR p, g IR » foret TR P B
eIt it F@E (cm H) €, @
(p-g-n1g-r-p)r-p-q) T&q
(a) HaeT GATEHH ©

(b) et HUITHE §

(c) Fad gAR ?

(d) ¥ HOR &

(a®+a*+ )8 +p*
a*pt

TR, T a>0,b>07?

(@ 1

(b) 4

) 9

d 16

1) | & e AW




27.

28.

29.

In a triangle ABC, D is a point on BC.
If AB-DC = AC-BD, £BAD = a and
ZCAD = B then which one of the
following is correct ?

(@ a=p

(b) a=2p

(©) 2a=p

(d) 2a=3p

Let N = 123456784B be a 10-digit
number, where 4, B are digits. If N

is divisible by 9, then which of the
following statements is/are correct ?

I. (4 + B) is divisible by 9
II. If A4 is odd, then B is odd

Select the answer using the code given
below :

(a) Ionly
(b) II only
(c) BothI and II

(d) Neither I nor II

If x3+—13-=—62 and y3+-l?_—__73_0,
e ShE S INEy

then which one of the following is a
value of xy ?

(@ 3
(b) 6
) 8
@ 9

11

30. If 11x+ 5y is a prime number where
x, y are natural numbers then what is
the minimum value of (x +y) ?

(@) 3
() 4
(© 5
@ 6
31. A 4-digit number N has exactly 15

distinct divisors. What is the total
number of distinct divisors of N2 ?

(a) 16
(b) 30
(c) 45
(d) 225

32. If p, g and r are the lengths (in cm) of
the sides of a right-angled triangle,

then(p—g-n@g-r-p)r-p-9
is always

(a) Positive only
(b) Negative only
(c) Non-positive only

(d) Non-negative only

33. What is the minimum value of
(@+a*+1)(B8+b%+1)
a*v*

where a >0, 5>07?

(@) 1

(b) 4

(c) 9

(d 16

A — RAKU-T-EMT



34. 200 BT S T F&1 |, n BE A4 IR

33.

36.

HH G GG TS T 2n B Hh
e KA €, 3n O 9 GEE EQ §;
4n B 9 A W@, T B Hh qEE KA
TlnHAA TN ?

(@) 20

(b) 25

(c) 30

@ 35
7R g 4BC ww By ® fmew
W36aﬁcm%l'qﬁAB=9cm,

BC=12cm 3R ZABC=6, a cosd
fras st ® 2

(@

w|&

(®)

J=-|&|

(©

(d)

W[

A T » Us g dEAT § |
n,n+10 FMHCF10 % | afc LCM x &
(T 2-3h g@m), ot x & foray wF
FEE?

(a) ¥ TH

(b) ¥ Q

(c) Fae o=

(@) 9= 9 sften
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37.

38.

39,

40.

a+2a3+3a%+2a+1 3R ab-2a3+1
& HCF ¥ § ?

(@ a+3a%+2a+1

®b) +a’+a+1

© (@+a+1)

@) (@-a+1)2

afe afteRor 22— (k—2)x + (k+1)=0
o T SR B, Al k 6 A 1§ ?
(@ 0,4

() 0,8

(c) 4,4

@ 2,6

(cose—sin0+1
cosf+sinf-1

forareh SRR @ ?
@ -1
(®) 0
(© 1
@ 2

) (cot@— cosecB)

os el
s1n03 2sin”0 e _% ?
2cos 6 —cosO

(a) sin%0
(b) cos?6
(c) cotO

(d) tan®



34. In a class containing 200 students,
n students prefer both tea and coffee;
2n students prefer coffee, 3n students
prefer tea; 4n students prefer neither
tea nor coffee. What is the value of n ?

(a) 20
() 25
© 30
) 35

35. Let ABC be a triangle with area 36
square cm. If AB=9cm, BC=12cm
and ZABC =0, then what is cosf
equal to ?

\5
(@) =

5
SR

©) 3

wIN

(@

36. Let n be a natural number. The HCF
of n, n+10 is 10. If the LCM is x
(a 2-digit number), then how many
values of x are possible ?

(a) Only one
(b) Only two
(c) Only three

(d) More than three

37.

38.

39.

40.

What is HCF of
a+283 +3a%+2a+1and a%-2a°+17?

(@ a®+3a%+2a+1

() a®+a*+a+1

© (@+a+1)

@) (@®-a+1)?

If the roots of the equation

x%—(k—2)x + (k+1)=0 are equal,
then what are the values of £ ?

@@ 0, 4
(®) 0,8
©) 4,4
@ 2,6

What is

cosf —sinf +1
(cose+ sinf-1
equal to ?

(a) -1
(® 0
(© 1
@ 2

) (cotf— cosecB)

sin@ —2sin>0

What is 3
2cos’0—cosf

equal to ?

(a) sin%0
(b) cos20
(c) cotB
(d) tan6

A - RAKU-T-EMT



41.

42.

43.

T &1 H 150 BET & 7S WR (mean
weight) 60 kg & | F&T § BET & AT
HR 70kg 3R BERN &1 55kg ¥ |
BHEl B T F DEET A g ¥
TS FT R ?

@@ 1:2

b 1:1
&y-2: 1

@ 2:3

P TR 4 IR B Fwh 3= wn

2m I Ilm e HEWA Im
R w w1 3 o & ot @
T il B @ e o ® | 4 % o
W A G AR, B & M | o= &
fog 3 = W@ # 1 aft IR @ @
R ® o5 & fog 5 fire ot €, &
S I e AT (speed) TR ?
(2 10 m/min

(b) 5 m/min
(c) 10 cm/sec

(d) 5 cm/sec

T r o arelt MameR dwm B g
F TH € A & ToRA 91 qell & Heq
W s wagA wwt A fawfa fen
ST R | v sifom gwe @ gEiw
SR T § ?

wr?

3

(2)

3z
2

(b)

27r?
3

47y’
3

(©)

(d)

RAKU-T-EMT - A
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44. % gieft, Pt o g & © A N

45.

46.

™ A o A E, B A
AR 50 HiX B I (qd wfew grr

@ ffg oA & f) FEER 3 W
gfeurred (clockwise) AT Smam ® |

af vl aftq i o & s 1 5
? 3k T e 1000 o) T , @
T uftan faeft aR g 2

(a) 1010

(b) 1015

(c) 1020

(d 1025

TOXx 71 x72x73xT74 %7576 %77
x 78 x 79 & 1000 ¥ Rl =0 w®
VTFA FT BRI ?

(@ 3

(b) 2

(e) 1

@ o

80 m WaATE H Tw FAlER @HT aAfsr
TTRRE@R |G TR PRE |
Afg AR WERR P4, BEH
MR W RE | Am g 4 R B A
TR & i & IwEE o N o KB
(@>p) %1 AR P4=64m 3K
AB=36m ¥ q (a+pB) fred sw=x
22

(@) 60°

(b) 90°

() 120°

(d) 135°



41.

42.

43.

The mean weight of 150 students in a
class is 60 kg. The mean weight of
boys in the class is 70 kg and that of
girls is 55 kg. What is the ratio of
number of boys to number of girls ?

(@ 1:2

i S R |
€ - 2:1
iy 23

Two towers A and B of height 23 m
and 11 m respectively, stand 9 m apart.
A straight rod is joined to the two tops
of the towers. A monkey sitting on the
top of 4, climbs the rod to reach the
top of B. If the monkey takes 5 minutes
to reach the other end, what is the
average speed of the monkey ?

(@) 10 m/min
(b) 5 m/min
(c) 10 cm/sec
(d) 5 cm/sec

A spherical wooden ball of radius r is
to be divided into eight identical parts
by cutting by planes passing through
the same diameter. What is the surface
area of each final piece ?

2

s
®) 2
© 2
@

44.

45.

46.

A trolley with two wheels one metre
apart is moved clockwise on the
circular track around a ground with
radius 50 m (described by right wheel).
If the size of each wheel is of 1 foot
radius and the right wheel turns 1000
times, how many times will the other
wheel turn ?

(a) 1010
(b) 1015
(c) 1020
(d) 1025
What is the remainder when

70 x 71 x 72 x73 x 74 x75 %76 %77
x 78 x 79 is divided by 1000 ?

(@ 3
(b) 2
() 1
@ o
A vertical pole of length 80m is

situated on the horizontal plane. The
base of the pole is at P. There are two
points 4 and B such that P, 4, B are on
the same straight line. Let the angles of
elevation of top of the pole from 4 and
B be a and B (a>p) respectively. If
PA =64 m and AB = 36 m, then what is
(a+p) equal to ?

(@) 60°
(b) 90°
(c) 120°
@ 135°
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47. W g & gegite R | IR AW A AW (03) wwEn & fog
(8k+3 4 (Bk+6 4 (BK+9 L 8K+12 Y frafafes w® fer fifsa :

6
(1+x3)g%§ﬁmﬁ'“ﬁ“ wm #fm 4BC w Baw @ S B w
“""""‘s'k ; THSHIE § | AW g BC R P fag =
(& x waRk & f6 BP=PC| 3R AB=10cm,

8k+1
ol ZBAP =45° 3R /CAP=0 -
(C) x8k+2
(d) X% (tan(a+ﬂ) m Ew‘miﬁﬁq)

48. 14 cm TS a1 T & WX TH o
weR sifera feran strar @ o sriafie =t 51. tan6 e =R 2 ?
& D, ST T e F wead

fogatt & wuwt €1 Q@ @ & 1

fommr 8 @ e R 27 @ 3

() 98 @l cm ;

(b) 56 & cm (b) 3

(c) 49 & cm

(d) 245« cm © %
49. T g P @ smar B &

S 4 TR | AR Pras @ dere (d)_;_

54aﬁcm%,a’rﬁ‘§aa§rq&mqw

27

(@) 30 cm 52. af% LACP=y ar tany foras =R

(b) 32 cm g7

(c) 36 cm A

(d 40 cm (a) 3
50. foreht Brge &1 e T @ fmd -

YT 4,4 3R 6 e € ? (b} =

(@) 37 = g

(b) 8=t Ffe 2

© 3
(c) 7t gfe
(d) 743 =t Ifve @ 1

RAKU-T-EMT - A 16



47. Let k be a positive integer. What is
the quotient when
x8k+3 4 1 Bk+6 4 (Bk+9 4 (8k+12
is divided by (1 +x3)(1 +x5) ?

(@) x%

(b) x8k+l
(C) J5814:+2

(d) x8k+3

48. A square is drawn inside a square of
side 14cm in such a way that the
corners of the inner square coincide
with the mid points of the sides of the
outer square. What is the area lying

between the two squares ?
(a) 98 square cm
(b) 56 square cm
(c) 49 square cm

(d) 24-5 square cm

49. The base of a right-angled triangle is
% times the height of triangle. If the

area of the triangle is 54 square cm,
then what is the perimeter of the

triangle 7

(a) 30 cm
(b) 32 cm
(c) 36 cm
(d) 40 cm

50. What is the area of a triangle having

sides 4, 4 and 6 units ?
(a) 37 square unit
(b) 8 square unit

(c) 7 square unit

(d) 743 square unit

17

Consider the following for the next three
(03) items that follow :

Let ABC be a triangle right-angled at B.
Let P be the point on BC such that BP = PC.
If AB=10cm, £ZBAP=45° and ZCAP=0

use tan(a + ﬁ) = t_an_a+_tan£
1-tanortan B
51. What is tan6 equal to ?
raaik
@
® 2
) 3
0
c) 2
@ <
52. If ZACP =y, then what is tany equal

to ?

N =

(@)

W | =

(b)

W

(©)

d 1

A — RAKU-T-EMT



53. frafafaa st w fer fific .

L @1 @ AP B ABC & &ww
1 3 SR WA A R awar
?

IL Byt 4PC ®1 WA 46cm &
aftes R |

I B 4PC ® #me 50 & cm
?

I9YeH H | H-91 F99 98 R ?
(a) Faa 13RI

(b) A« I1 3R I

(c) A« I3 I

(d) I, I 3R 11

I W A A (02) www F fem
fFreafafes e $iftng .

IRARAT 99 36 TER ¥ :

A% [18-26|27-35|36-44|45-53|54-62|63-71|72-80

BEl A
&

5 7 10 15 8 3 2

54. Se T AITEAE w41 & ?
(a) 449

(b) 455

) 459
d) 463

RAKU-T-EMT - A

55. & 1 9gAS (mode) T § ?
(a) 47-25

(b) 47-75
(c) 4825
(d) 4875

A AW A qT(02) wEwit F fog
frafafga w fomm At .

ABC & Bys ® St B R wwahivig € | fen
T R 6 AC-4B=2 cm 3R BC=16 cm

56.afc /BAC=6 A sin6+coshd Frash
TR B ?
(@ 1

71

(b)6—5

23

© &

o

@

57.3f% BD Y AC R &« &, a BD &
T T § 7



53. Consider the following statements :
I. The line segment AP divides the
area of the triangle ABC into two
equal parts

II. The perimeter of the triangle APC
is more than 46 cm

III. The area of the triangle APC is
50 square cm

Which of the statements given above
are correct ?

(a) I and II only
(b) II and III only
(c) Iand III only
(d) I, IIand III

Consider the following for the next two (02)
items that follow :

A frequency distribution is as follows :

Marks |18-26 [27-35 [36-44|45-53 |54-62 |63-71 | 72-80

Number

of 5 7 10 15 8 3 2
students

54. What is the median of the distribu-
tion ?

(a) 449
(b) 455
) 459

(d) 463

19

55, What is the mode of the distribution ?
(a) 4725
(b) 4775
(c) 4825
(d) 48-75
Consider the following for the next two (02)
items that follow :
ABC is a triangle right-angled at B. Given
that AC—AB=2 cm and BC=16 cm
56. If ZBAC = 0 then what is sinf + cosf
equal to ?
(@) 1

71
®) <
73

© o

79

@ <

57. If BD is the perpendicular on the side
AC, then what is the length of BD ?

1008

(a) —— cm
65
756

() — cm
65

(c) o cm
o

@ 192 em
7
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W W A A (03) wwit ¥ fow
Frafafea = faer $ift

A A My U@ et g9 F 16 om @
W%,ﬁwﬁﬁOE}ﬁtﬁWIOcm%l
M 3R N ® wfen (§e) fog P w
wfosag &t ® | 3R, OP, MN ® fog Q
R ded: videee Fdat § |
58. 00 foras srer ® ?

(a) 5Scm

(b) 6 cm

(c) 7cm

(d 8 cm

59. PM forass sqek R 7
(a) 10 cm

(b) 12 cm

40
(c) —cm
3

@ ? cm

60. Brst OMN & &=we waT £ 7
(@) 36 T cm

(b) 40 T cm

RAKU-T-EMT - A
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61.

(c) 45 @ cm
(d) 48 & cm

Toh W¥ 3R I @16 & F9T 1 AR 11
f@ @ & | v ik = w® fER
#ifg Ik a@ few = fufyg
Hfeg |

W : k O Quife WH  (integral
value) 1 % s ﬁl‘({ ST
(expression)  4x2—kx+1
gATCHS & ?

D9l : k<2
Y-l : k> -4

S W AR wEEl & wey ¥
frafafes & & a-w1 v & 2

(@) U & S| HET TH A H
S9N W fear s e R, feg
HA TR FAT W I W
e e s e @

(b) U H IW QAT F ¥ Faa T
T 9 & I <& fear =
Hehal 8

(c) W & W QT FIAT H TH qT
SN W fan s wwan R, fig
Faa &t & w29 w1 swEm
Feh TRl fear s wear @

(d) 9 & IW GHI FIAT H TH G
AN R Wt e fear s A
?



Consider the following for the next three (03)
items that follow :

Let MN be a chord of length 16 cm of a
circle with centre at O and radius 10 cm.
The tangents at M and N intersect at a
point P. Further, OP intersects MN perpendi-
cularly at Q.

58. What is OQ equal to ?

59.

60.

(a) 5cm
(b) 6 cm
(c) 7cm

(d 8 cm

What is PM equal o ?
(a) 10 cm

(b) 1o

40
(c) — cm
3

50
(d — cm
) 3

What is the area of triangle OMN ?
(a) 36 square cm

(b) 40 square cm

21

61.

(c) 45 square cm

(d) 48 square cm

A question is given followed by two
statements I and II. Consider the
Question and the Statements and mark
the correct option.

Question : What is the integral
value of k for which the
expression 4x%—kx + 1
is positive ?

Statement-1 : k< -2

Statement-II : k > -4

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b)

The Question can be answered by
using either Statement alone

The Question can be answered by
using both the Statements together,
but cannot be answered using either
Statement alone

©)

(d) The Question cannot be answered
even by using both the Statements

together

A — RAKU-T-EMT



62. T& W 3R I8F 1€ o &9 [ 3R 11

fic W | v IR w ® fER
Hifg 3k wE faesw = ffga
g |

UHE  : A, B 3R C uwHEg feam
ot ¥ = e W wed
T

FI9-1 : A IR B THATT FE w24
- feat & Tme W T €
FUA-II : B AR C AT F A 36

fet & e W g ©

St W IR wAAl & wew W
Frafafea & & S=-w @& R 2

(@) ¥ H SW Had Th 49 H
SN aReh T s awar §, fog
FaA TR FIT H STN FH
e fear s g @

(b) IR AT H A Faw
Teh FIF H SUANT o fedr S
H&dT ©

(c) WY I ST QHI AT T Teh |1
SN Fe fear s wear R, fg
Fao frdt ©H R @ STEN
IR ARl fear s gewar ©

(d) ¥ 1 IR AT FIAT A T AT
I9ANT &k W el fear s weRar
?

RAKU-T-EMT - A
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63. T U 3R 3G =€ o &9 1 3R 11
- Ry | yE R WA | RER

g 3k @ fooew @ fufka
HIf |

| . T W TS wds g T
Fehal © ST AT BT ?

-1 : x2-26x+ 133 =0

A1 : x2—44x +475=0

SEH W IR FAA & gy H
frafafea & @ Sv-w W & 72

(@) U W IR FaT Th HIT M
IR o= foar s wewar ®, fohg
Fa@ G FAT H SIEN FH
e fean s ww

(b) WU H SW Al H ¥ Faer fery
T 99 & SYART o fear S
Tl &

(c) W H W GHI HAAT H TH A1
AT Feh foar s weRan €, fog
e frt T T @ SwEm
ek ol fear s @ ®

(d) WS I ST HI HIAT 1 Th 91"
IJUART IR W el fear s g
?



62. A question is given foilowed by two

statements I and II. Consider the
Question and the Statements and mark
- the correct option.

: In how many days can
A, B and C together
finish the work ?

Question

Statement-I : 4 and B together can
finish the work in 24

days

Statement-II : B and C together can
finish the work in 36
days

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the

~ other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements together,
but cannot be answered using either
Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

23

63. A question is given followed by two

statements I and II. Consider the
Question and the Statements and mark
the correct option.

: Can we have a com-
mon solution which is
prime ?

Question

Statement-I : x2 —26x+ 133 =0

Statement-1I : xZ — 44x + 475 =0

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements together,
but cannot be answered using
either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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64. T&h U3 3R Ik 1€ o 99 [ 3K 11

fu @ ¥ | v IR F=E | RER
Hfifg Ik w@ few = ffga
Hfg |

W W 327" + 173" 500 ¥

fawrsa @ 2

F949-1 : n foww gaqel €@ (natural
number) ?

FIA-I : n TH &7 QUG (positive

integer) ?

SEh AW R FEAl % wew A
Frafafea & & s=-w1 @& ® 2

(@) ¥ W IW Faq Th FG9 H
IR ek fean s wewar R, fog
FA R FAT H SN FH
g fear o e R

(b) W W SR T A ¥ Fewr Ft
T& 699 & START aeh fear s
T ©

(c) W & IR THI HIAT H1 Teh A1
ITAnT & fear s wwar 8, g
S fedt & A W SwEN
& Gl foan S wHA R

@ w¥ W SR fwlt W wm oW
I9gm feu femr ot fear s waan
E

RAKU-T-EMT - A

24

65. T W¥ 3R % &g oF 99 1 3K 11

fer @ | ww Ik = ® R
Hifie 3Rk @ fowew = fufgm
Hifvmg |

UW 3l Yae f he § 20%
% A g B ®, A @ua A
fram o 6t = Hir

St ey arfer =g S g
TR ?

FI9-1 : U I hEa 90 =T Wi
e @t

FIA-I : da | 3fg ¥ wee @uw
24 ex ot

S UH R FEAl & ey #

feaffe A a -t R 2

(@) ¥ W SW o Th FGT 6
A @ fear s e ®, fog
Faq G FIA SN W
e fear s owear R

(b) W H IW A1 H A Faa o
UF FI9 H STN & fear s
HHaT ©

(c) W FH W AT FIA H Th qA
AT axeh fear s @ ®, fohg
Fad ol & w9a @ SR
ok el fear s we ©

(d) wW\ = IW FR i FT oW
Iqam ferg femr ot fear smoasan
2



64. A question is given followed by two

statements I and II. Consider the
Question and the Statements and mark
the correct option.

- Is 327" + 173" divisible
by 500 ?

Question

: n is odd natural num-
ber

Statement-I

Statement-II : » is a positive integer

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements together,
but cannot be answered using
either Statement alone

(d) The Question can be answered
even without using any of the
Statements

25

65. A question is given followed by two

statements I and II. Consider the
Question and the Statements and mark
the correct option.

: If the price of petrol
goes up by 20%, by
what percentage should
the consumption be
reduced so that the
expenditure ~ remains
the same ?

Question

Statement-I : Price of petrol per litre

was Rs. 90

Statement-II : Consumption was 24
litre before price hike

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(b) The Question can be answered
by using either Statement alone

(c) The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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66. U U 3R S o€ o &ad 1 3R 11

fig T ¥ 1 v 3R F ® FER
vy Ik @ feew = fufea
g |

UH PHF A H QF qa9 ¥
FEE 6:58 | P A

feramr & 7

HgA-1 : Pl wEa W Q Il SEd A
JT 3:2%

FEAI c PR T W Q& =T A

A 1:1 8

ST W R Al % dew #
fraforfea & @ S=-ar @&t € 7

(a) UH H IR Ha Th HIA H
IR Feh fear s R §, g
Fad TR FIT H STAN Feh
e fear o gen ®

(b) W N IR THI A A Haw f
TH I H ST weh fear W
TehaT B

(c) W T ITR QFT HIAT N Teh a1d
SHE aRe fear o e €, fog
Fad frft s w9F @ SEm
TRF Tl fear < wear B

(d) W F I GHI HIAT H Th 1A
IR o= W e fear S @
?

RAKU-T-EMT - A
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67. T W 3R IqF 91¢ o w99 1 R 11

feg M@ ¥ | v IR = w® fER
g 3k @ fooew = fufka
Hfg |

qE : 9T SRS Uit (different
integers) ¥ ¥ JeaH 8 IR
T 2 ¥ | T IS &

- SEq TR ?

FUA-1 : GH 5 QOISR o AW 5
T R

Fga-11 : faww quiet 6t qen fawm
®

Jugh W R wEAl & gew A

Freafafea & & Sta-wr wdt € 7

(a) W H SW Fa Th HI4 H
ARt F fear s e €, fg
Fad G FIT H STEN FHh
e fear s wwar R

(b) U & W Al H & hae ferelt
Teh 49 &l AN &< fear s
qFaT ©

(c) W I IR THI AT N Teh a1
IyaRT Feh fear s e ®, fog
Fad frdt s w9 W Swm
Eoc ki o s e T

(d) WY T ST QHT HAAT H Tk A1
IUGNT ok At e fear o weRar
?



66. A question is given followed by

two statements I and II. Consider the
Question and the Statements and mark
the correct option.

Question : The ratio of P’s salary
to O’s salary is 6:35.
How much is P’s
expenditure ?

Statement-I : The ratio of P’s saving

to O’s saving is 3 : 2

Statement-II : The ratio of P’s
expenditure to (O’s
expenditure is 1: 1

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(b) The Question can be answered
by using either Statement alone

(c) The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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67. A question is given followed by two

statements I and II. Consider the
Question and the Statements and mark
the correct option.

Question : The largest of five
different integers is 8
and least is 2. What is
the average of these

integers ?

: The sum of all the
5 integers is a multiple
of 5

Statement-1

Statement-II : The number of odd
integers is odd

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other statement alone

(b) The Question can be answered
by using either Statement alone

(c) The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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68. T U 3R SG& @1e o &9 1 3K I

few @ €| ww 3R FE | fER
Hifm sk w few = fafgg
i |

= ;W S WR (different
weights) € | € ¥R quife
® 3R S0 AN TF FHT
TAT (prime number) © |

AR FT-F91 § ?

FAA-1 : I W TF AR W WR H
T ®

FIAI : ST ¥ TF AR GER AR &
i I R

I W R wEEl % dEy #

Frafofea & @ - a6 & 2

(@) U9 & IW Fad Th F99 H
SHART & fear s wewn €, fog
FIT QR FAT F TN FKh
T e s wwar §

(b) U H SW THI H ¥ Fael Tt
TH F IR FRE fear
ThaT ©

(c) W I IW THI FT A T AT
SqERT wh far s wean 2, fig
Fau foredt & w9 @ SwEE
e Tel fear < wRar §

(d) W F W IFT FIAT 6 TH G
AN FReh W & fear s wewan
®

RAKU-T-EMT - A -
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69. T& W¥ 3R S «€ o F99 [ 3K 11

fir 1@ | v Rk A | RER
Fig 3k @@ few =t fufea
Hif |

E 10 9§ f gy w ofyr
ferat Bt 2

FI9-1 : FEEA 1,00,000 TIT B
FEA-I : AW B R 10% T 2

IEH W R wEAEl % dEy H
frafafea & @ SF-ar a2 2

(a) ¥ & IW Fad ThH H9T H
TR & fear s e €, fog
AT TR FAT F ST FKh
el fear s wewar @

(b) W o IR A F ¥ I Rt
TF TG F IWN a fear o
HHaT &

(c) V¥ H IW QAT FHI H Tk 1Y
SART FReh fear s wwar @, feg
Fao foredt ws = @ SwEW
IR el fear S wewar @

(d) W F SW QAT FIAT H Th Y
SHANT aRE At A fear S wewan
?



68. A question is given followed by two

statements I and II. Consider the
Question and the Statements and mark
the correct option.

There are three dif-
ferent weights. All the
weights are integers
and their sum is a
prime number. What
are the weights ?

Question :

Statement-I : One of the weights is

twice the another

weight

Statement-II : One of the weights is
thrice the another
weight

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(b) The Question can be answered
by using either Statement alone

(c) The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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69. A question is given followed by two

statements I and II. Consider the
Question and the Statements and mark
the correct option.

Question : What is the amount at
the end of 10 years ?
Statement-I : The principal amount

is ¥1,00,000

Statement-II : Rate of interest is 10%
per annum

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(b) The Question can be answered
by using either Statement alone

(c) The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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70.

71.

T U 3R I8 91 qF Fa-1 3R 11
fio @ €| ww @R A R R
Hifw Ik wd feew = fFafgw
it |

W W p?+pg + g Taww R et
p, g T T ?

FYT-1 : p+qg A B

®gq-11 pqﬁW%

Sufth W R FHAl % gew A

frafafas & & 9-ar @& ® 7

(@) U A W FAA Th FAT HI
AN e fear s "R ®, g
FaA GE FIT H SN aKH Tel
fear s & @

(b) W H IW Al F A Fae Tt
TF FUA H IUART K e S
AT ©

(c) WY T IR ST HIAT & Teh q1Y
S9N e fear s wewan R, fg
St Torelt T FI IR aRe
et fear s v ©

(d) W T ST QAT FEAT H Th I
SYART SRk I G o1 ST wRT ©

fft & i 3o SFEEr 10,000 @
Forewt et ok wfeansti i wear )R
? | g wHEEn # ¥ 30% WHER 9%
TG A § | §F FHER I GG Al §
¥ T foerd sl ®HER 9% 9ed € |
Fol ST FAMER 9 Ugd aral A &
20% wfgemy € | S W f "en
ferat ® ST SIS TWER A TR Ued
g7
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72.

73.

74.

(@) 800

(b) 2100

(c) 4200

(d) sate et & Hrw fuifa e

ferar st g

ferelt smaa = siftreRaw &Ewd, @ om
#, a1 & foreer afmma 400 cm @ ?

(@ 100

(b) 200

(¢) 1000

(d) 10,000

Ife 310 7@ fawa foer ST @ @
AN FIT BRI ?

(@ 0
(b) 1
() g

(d 4

64% <1 TS AT § ?
(a) 0-08%

(b) 0-8%

©) 8%

d) 80%



70. A question is given followed by two

71.

statements I and II. Consider the
Question and the Statements and mark
the correct option.

Question : Is p*+pg+q* odd
where p, g are inte-
gers ?

Statement-I : p+ g is even

Statement-II : pq is odd

Which one of the following is correct
in respect of the above Question and
the Statements ?

(a) The Question can be answered
by using one of the Statements
alone, but cannot be answered
using the other Statement alone

(®)

The Question can be answered
by using either Statement alone
(c) The Question can be answered
by using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

The total population of an area is
10,000 out of which males and females
are equal in number. Out of the total
population 30% are Newspaper
readers. Out of the total newspaper
readers, one-third read English News-
paper. Out of the total English News-
paper readers, 20% are females. What
is the number of males who do not read
English Newspaper ?

31

72.

7%

74.

(a) 800
()
©

(d)

2100
4200

Cannot be determined due to
insufficient data

What is the maximum area of a
rectangle, in square cm, whose
perimeter is 400 cm ?

(a) 100

(b) 200

(c) 1000

(d 10,000

What is the remainder if we divide 3!°
by 7?

(@ 0
() 1
(©) 2

d 4

What is the square root of 64% ?
(a) 0-08%

(b) 0;8%

(c) 8%

(d) 80%

A — RAKU-T-EMT



75. 103 -5 3R 10¥+p & R 3 A

76.

fawrsa @, %1 p U & ® | p & R
T gwifed § ?

(@ 4
(b) 3
(c) -2
@ 1
frafafaa wo=t ) fmw fifve .

L 61 fawira a=ar & 107190 — 76100
=

L. 100 fanfoa a=ar € 67° +335 =

| I ¥ -/ e

R/R?
(a) a1
(b) ¥ 11

- (¢) 13K I3t

77.

d ARNLFTRI

AEaR ¥ WEr o= fe&E feow 1@
QUE F AEd aEE 31°C © | 3l
faié foru @ =@aw qoEE 30°C
@A T A R T W QR W
gufaa aftreaw qowe =1 § R
Renid femar ST @ © 2

(a) 34°C

(b) 35°C

(c) 36°C

(d 37°C

RAKU-T-EMT - A
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78. afe

(20
X+—|—| y+—|=
yz zx
e
y+—|—| z+—
zx xy

IR x+2z# 2y, A xyz fFash =R ® ?

(@) 3

(b) -1

) 1

@ 3

79. p=n(n+1)(n+2)(n+3)+1, & G

A, el n T gegul we €, Frafafaa

L p wdqr fawm
IL p T& 0 =t &

IGE # ¥ HA-T1/FA-H FA qQ
R/%7? :

(@) Had 1
(b) ¥t 11
(© 1R IIgHt

d adALAVI



75.

76.

7

The difference of 103! — 5 and 10°° +p
is divisible by 3 where p is a digit.
How many values of p are possible ?

(@) 4
(®) 3
© 2
@ 1

Consider the following statements :
L. 61 divides 10790 — 76100
IL. 100 divides 67° + 33>

Which of the statements given above
is/are correct ?

(a) Ionly

(b) II only

(c) BothIandII

(d) Neither I nor II

The average of the temperatures
recorded at noontime from Monday to
Sunday is 31°C. If the lowest tempera-
ture recorded is 30°C, then what is the
maximum of temperature that is
possible to record at noontime on any

- one of the days

(a) 34°C
(b) 35°C
() 36°C
@ 37°C

33

78.

79.

If
nes
x+—|=|y+—|=
yz zx
G
y+—|-| z+—
zx xy
and x +z # 2y, then what is xyz equal
to ?
(@ -3
(b) -1
() 1

@ 3

Consider the following statements in
respect of
p=nn+1)(n+2)(n+3)+1,

where »n is a natural number :

L. p is always odd
II. p is a perfect square

Which of the statements given above
is/are correct ?

(a) Ionly
(b) II only
(¢) BothIandII

(d) Neither I nor II

A — RAKU-T-EMT



80. Ugell 50 W@ MYV WG - (natural

81.

numbers)a? e IR geet 50 fww
YYU EEATSAT o A h ST H AR
;R ?

(@ o
(®) 05
) 1

d 2

AT gt x,y,z%ﬂﬁl"(%%y,x

. R THalg AW § AR z, y W Terafg

82.

= ¢ | wfoad @ f o€ ok at §
THg-Iaft e e € | Feafafea &
H-a1 w9 ® ?

@ x*=yz
(b) 2=z
© 22.=xy
d) x=)z
n GETS Hehgl a § | daw & @@
ganet 15 ® ok Rt off @ sFmm

T F W FAT 6 SR Gl 1T
? | Frafofee @t = R fiftc .

L nd &t & faat 2n+42-22

L »d & 3R (n-1)F F F 6=
afeifora &owe # @ w@aT ©

RAKU-T-EMT - A
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83.

84.

ST Rt § & w-an/-Y v
/%7

(@) Fael I
(b) ¥ 11
(¢) 13K II3Ht

@ FALIDI
T& d™d ABCD ¥, ot # @ ws
famof 4CR | IR 4C+4B=34D sk

AC—AD =4 33, T AT T &%l
TR ?

(a) 24 o &2
(b) 36 T zHE
(c) 48 =t zars
(d) 72 =t zard

@@}aﬁmfaaﬁgqaﬁ?'aa‘awﬁ
n(2+«/§)2

& ufoa 9@ = Ewa -

T cmB | YR I A A TH g9 A
Pemmsng ?

(@) 05 cm
(b) 1 cm

(c) 1-5cm

(@ /3 cm



80.

81.

82.

What is the difference between the
average of first 50 even natural
numbers and the average of first 50
odd natural numbers ?

(@ 0
(b) 05
ey : 1

d 2

Three amounts x, y, z are such that y
is the compound interest on x; and z is
the compound interest on y. The rate of
interest per annum and the time period
in years are same. Which one of the
following is correct ?

@ »*=yz
(b) *=2zx
(© Z2=xy
) x=yz

There are n concentric squares. The
area of the innermost square is 1 unit
and the distance between corres-
ponding comers of any two consecu-
tive squares is 1 unit. Consider the
following statements :

I. The diagonal of the nth square is
2n+~2-2

II. The area included between nth
square and (n-—1)th square is
independent of »

35

83.

84.

Which of the statements given above
is/are correct ?

(a) Ionly
(b) II only
(c) BothIandII

(d) Neither I nor II -

In a rectangle ABCD, AC is one of
the diagonals. If AC + AB=3A4D and
AC—-AD =4 units, then what is the
area of the triangle ?

(a) 24 square unit
(b) 36 square unit
(c) 48 square unit

(d) 72 square unit

The area of the circle circumscribing
three identical circles touching each

n(2+«/§)2

other is square cm. What

is the radius of one of the smaller
circles ?

(@ 05 cm
() 1cm

© 15 cm
(d) /3 cm

A — RAKU-T-EMT



85.

86.

ww B ABC ®, AB=21cm,
BC =20 cm 3R CA=13cm® | S
o W T & CD gi=n st ® | Brgw
BCD &1 &% 91 § ?

(@) 96 & cm
(b) 84 = cm
(c) 80 T cm

(d 72 cm

A= 43k BRI T 4, gk
e F I 1:3 ® 3R = B #,
« AR It H FIT min | TR
= 43R B fimor Y 2 : 3% SIquma
# fren fear o @ifs gu ok ot W
3:7% 39 # 20 e = frsor wmw

o, A % WA TR ?
(@

.
2

®

w|N

©

Slw

(d)

w|

RAKU-T-EMT - A
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87.

88.

TF UF, T Jdien R ww A,
r Prean 919 q9H IR W) @R € 3k
TR SATE TE @M R | AR W O,
FEFM 3R AT & A™AAT 1 TR,
R T 9@ w6 M & 3T F SR

ta f—jﬁmw%?
@) 125 |

(® 15

© 2

@d 25

afe x & @t quiichy #ET (integral
values) & 0 B +p2+gx+r TH
i ®, @ Frafafae w9t w fimr
Ffg

L p 5@ § T QIic grm
1L g 39 & TF qiis erm
L » 3@ & T& QUi erm

I H ¥ HA-G1/FH-F AT
R/% 7

(@) Fast 13K 11

(b) ¥Fae III

(c) I, I3 II

d) #E o w7 v T R



8s.

86.

In a triangle ABC, AB=21cm,
BC=20cm and CA = 13 cm. A per-
pendicular CD is drawn upon the
longest side. What is the area of the
triangle BCD ?

(a) 96 square cm
(b) 84 square cm
(c) 80 square cm

(d) 72 square cm

There are two containers 4 and B. In
container A4, the ratio of milk and water
is 1 : 3 and in container B, the ratio of

" milk and water is m : n. If the mixture

in the containers 4 and B are mixed
in the ratio 2: 3 to get 20 litres of a
mixture having milk and water in the
ratio 3 : 7, then what is the value of

m
e 4
n

(@

N =

wN

(b)

©

(d)

37

87.

88.

A cone, a hemisphere and a-cylinder
stand on equal base of radius r and
have the same height. If the sum of
volumes of cone, the hemisphere and

the cylinder is equal to volume of a
3

.

sphere of radius R, then what is

equal to ?
(@) 125
() 15
© 2

@ 25

If x3 + px® + gx + r is an integer for all
integral values of x, then consider the
following statements :

I. p must be an integer
II. ¢ must be an integer
II. » must be an integer

Which of the statements given above
is/are correct ?

(a) I and II only
(b) III only
(¢) I, I and III

(d) None of the statements is correct

A — RAKU-T-EMT



89.

90.

91.

92.

XYZ T 3-3(1 €A1 ®, W1 X, ¥, Z
i PR o= €| @ 33 wEn
XYZ 3R YXZ & &= & FR 90 ® |
M (X+Y) & fou e dwer 7@
formma € 2

(@A 9
() 8
(c) 7
@ 6

w & f7 #, 2:01 pm 3R 401 pm &
o= H, T uSt # fme g, A
F g3 & ara foraft IR Hurht Bt € ?

() 121
(b) 120
) 119

(d) S & ¥ S T

2%_1 3R 2451 0 HCF +1 ® ?
(a) 1023 -

(b) 512

(c) 511

(d) 255

T& 3 @ g AF A TH ad o
Tfeeed, fed a5 & oY safdfs
%aﬁtsﬁm%éaaa%, 14 cm
W AT U qHeTg B ® | 9
HFGT 1R 7 (A G 7 = 22)

RAKU-T-EMT - A
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93.

94.

1078+/3 ¥ cm

1078 T em

(b)\/5

(c) 53943 ¥ cm

539

V3

(d) 99 cm

TAF 3 cm IUR Bar a9 S qdaw
UF Y- ATUR W 37 THR @ Y
g % % u5 57 @ ugelt @ wl

R W T | W FEE TH @ g9 e
St oaget & el F uEw ¥ B
T | 30 I 6 &% FTE ?

(a) 379 cm
(b) 67 T cm
(©) 97 & cm

(d) 12z & cm

BR 9aig U st ABCS sianta
Th 99 ¥ | IR 4B = 5cm R BC =
120m%,?ﬁ'§ﬁ'éﬁfﬁww%?

(@) 1cm
(b) 15 cm
(c) 2cm

(d) 2-5cm



89. XYZ is a 3-digit number, where X, Y, Z
are distinct non-zero digits. The dif-
ference between the two 3-digit
numbers XYZ and YXZ is 90. How
many possible values exist for the sum
X+7Y)?

@ 9
(®) 8
© 7
@ 6

90. How many times does the minute hand

of a clock coincide with the second
hand between 2-:01 pm and 4-01 pm on
the same day ?

(a) 121
(b) 120
c) 119

(d) None of the above

91. What is the HCF of 23¢-1 and 2%-1?

(a) 1023

(b) 512
() 511

@) 255

92. The section of a solid right circular
cone by a plane containing vertex and
perpendicular to base is an equilateral
triangle of side 14 cm. What is the

volume of the cone ? (n = %)

39

93.

94.

(a) 1078+/3 cubic cm

1078 ¢
—— " cnbic:cm

(b)ﬁ

(c) 539/3 cubic cm

539
d) —= cubic cm
Wl

Three identical cones each with base
radius 3 cm are placed on their bases
so that each is touching the other two.
There will be one and only circle that
would pass through each of the vertices
of the cones. What is the area of the
circle ?

(a) 37 square cm
(b) 67 square cm
(c) 97 square cm

(d) 127 square cm

A circle is inscribed in a triangle ABC
right-angled at B. If AB = 5cm and
BC = 12 cm, then what is the radius of |
the circle ?

@@ 1cm
(b) 15 cm
(¢) 2cm

@) 25 cm

A — RAKU-T-EMT



935,

96.

97

n ST AT TH GHARHS & AT
HIUT % TRTHA HT ST VT & AN

¥ IFFIE 1 B | RIS F T AR
IO H A T ® 7

(@) 110°

(b) 120°

(c) 130°

(d) 140°

T 199 B m?-n?F w7 F Rrar
ST "EAT §, TRl m, n TP HEATT §
(m>n) |

mn H /I TR ?

(a) 9900

(b) 9800

(c) 9701
@) Ffehaa: Feffe =& fFr W

qehdl

2"—1 % & (form) & 3R 2000 &
e, feraelt srarsw wEand € ?

(a 3
(b) 4
(€)' 5

@ 6

RAKU-T-EMT - A
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98.

99.

100.

160 BT 6 TEH. FET A, TAF S
h, R IR AT AT
HIST 1 994 oKl § | T8 AT San §
fr 130 o= @, 120 v f&dt ek
110 B §&Fd & 99T A ¢ | ke
BT AT T el Teh AN 61 999 A ©
T gt AT WIS & WEE aRa § ar
foram o= W € o wlt e wend e
e

(@) 40

(b) 60

(c) 80

(d) 100

A T S = 59+ 70+ 11€+139
ﬂﬁa,b,cﬁ?dﬂ?@mﬁ;%lﬂa
S 10 grr fawfom fomr s @
S & firsr Quwat it gear | erl ?
(@ 1

(b) 4

(© 5

(d) 5% siftes

s g Brgst ABCH, £4 = 90°
3R AD,BCR &= § | 3fe £CAD=60°
#R BC=6cm¥e, @ 4B frasds =R
27

(@ 3 cm

(b) 4 cm

(c) Scm

(d 6cm



9s.

96.

97,

The ratio of sum of interior angles to
sum of exterior angles of a regular

polygon of n sides is -Z— What is the

measure of an interior angle of
polygon ?

() 110°
(b) 120°
) 130°

(d) 140°

The number 199 can be written as
m? — n?, where m, n are natural numbers
(m > n). What is the value of mn ?

(a) 9900
(b) 9800
() 9701

(d) Cannot be uniquely determined

How many numbers of the form 2" — 1
and less than 2000 are prime ?

(a) 3
(b) 4
(©) 5

@ 6

41

98.

99.

100.

In a class of 160 students, each of them
opt at least one language from among
English, Hindi and Sanskrit. It is found
that 130 students opt English, 120
students Hindi and 110 Sanskrit. If the
students opt either only one language
or all three languages, then what is the
number of students who study all three
languages ?

(a) 40

(b) 60

(c) 80

(d) 100

Let § = 5%+ 7% + 11° +139, where q, b,
¢ and d are natural numbers. What is

the number of distinct remainders of
S when it is divided by 10 ?

(@ 1
(b) 4
() 5

(d) More than 5

In a right triangle ABC, ZA4 = 90°
and 4D is perpendicular to BC. If
ZCAD = 60° and BC = 6 cm, then
what is 4B equal to ?

(@ 3 cm

(b) 4 cm

(c) 5cm

(d) 6cm

A - RAKU-T-EMT
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